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The Constitution of India
describe India as a

(A) Confederation

(B) Federation

(C) Union of States

(D) None of these

Which Fundamental Right was

described by Dr. B.R Ambedkar

as the “heart and soul” of the

Constitution ?

(A) Right to Religion

(B) Right to Education

(C) Right to Property

(D) Right to Constitutional
Remedies

How many members can be
nominated to the Lok Sabha by
the President of India ?

(A) 2 (B) 12

©) 14 (D) 7

What are the total no. of seats
reserved for SC and ST in Lok
Sabha ?

(A) 69 and 30

(B) 79 and 40

(C) 89 and 50

(D) Varies after every General

Election

The President of India addresses

both Houses of Parliament

assembled together at the

commencement of

(A) Each year

(B) After each General Election
to the Lok Sabha

(C) Both (A) and (B)

(D) Neither (A) nor (B)

SR MRUT o SReq

A =ifeizs 3 2
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(C) JeTF 1T

(D) «BIS 72 |
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< Sl et (R ?
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(D) (A) I (B) FCI0l 72 |
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6. A Supreme Court Judge can be | 6. TwHoN WRFTEI & NRTF
removed by SIS I ANE —
(A) Prime Minister of India (A) SITST 2 TAE |
(B) The Chief Justice of India (B) WWW%P‘T |
(C) The Speaker of Lok Sabha (C) GITSR SHFE |
(D) The President of India after (D) TRfe@PR S e SRweq
impeachment Efem |
7. In the National Flag of India, the 7. SIe] FBIT TOFC HHFETS
Ashok’s Chakra has I —
(A) 24 Spokes in black colour (A) T 99 8 Tle 7& T |
(B) 16 Spokes in black colour (B) 37 qeq S T 7€ W% |
(C) 24 Spokes in blue colour (C) Tl 9ET 28 TIFT e SIE |
(D) 16 Spokes in blue colour (D) T 987 S TleT 7 AZ |
8. Fundamental Duties were | 8, TFeR MRYTS @ FE
incorporated in Indian | [ FRRE 91 T20E 2
Constitution in the year b il '
(A) 1950 (B) 1952 (A) >»eo (B) >R
(C) 1976 (D) 1971 (©) 559Y (D) 5595
9. “India’s Soul lives in Villages” 9. ‘TS N RS2 I FE
was said by S ARE o 2
(A) Vinoba Bhave
A) ReEieE
(B) Jayprakash Narayan EB)) o T ST
(C) Jawaharlal Nehru ©) W W
(D) Mahatma Gandhi (D) Wéﬁﬁ ST
10. With A, B, C as centers, three 10. A B CW@%&@TW G
circles are drawn such that they L ' corm Fofi1aB) ge3 affew
touch each other externally. If the SRP ol ©
sides of the triangle ABC are 21 201 PTG = iz | A, B,
4 cm, 6 cm and 8 cm, then what C fagse q12g 9 4 cm, 6 cm
is the sum of the radii of the ! T 8 cm 2T5 JQHRHE AP
circles ? ;
Gtz R 29 2
(A) 9 cm (B) 14 cm (A) 9cm (B) 14cm
(© 1lem (D) 12cm . © llem (D) 12em
Series-B [ 4] Q2
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11. Atwhat rate of simple interest in | 11. fF= 379 Jo© 8 IZAE b 4
4 years a sum of money will TS BifRese 279 2
become four times the principal ? (A) @o*SI¥  (B) Lo XN
(A) 50% (B) 60% (C) q,Q Wox]' D xT—To
K . H (D) bo ¥R
(© 7% (D) 8% 12. Sooo TFl @R So Nol¥ 5T
12. In what time will ¥ 1,000 become ) 5l T ﬁ\
T 1,331 at 10% per annum o0 Sobd 2 R
compound interest ? ST 2
(A) 3yrs (B) 2 yrs (A) ©3=g (B) x39=%
1 1 S P
(C) 2% yrs (D) 3% yrs ©) w7 (D) ‘o 7=
13. By how mgch percentgg.e area Qf 13. 3t 3909 &RSTl 5E% S0 *olkd T
a Square will increase if its side is
. . I 2 (o0® A *SiH GETpl
increased by 10% ? S {f‘?ﬁ %379
(A) 20% (B) 21% o
(©) 22% (D) 25% (A) RO*FORM  (B) 5 *TOR¥
° ° (C) WR*SIA (D) € ¥ORA
14. From a rectangle metal sheet of 14. G4 TSIFIF @G B6F 12T 7Y
sides 25 cm. and 20 cm, a E3® ¢ EIGRGIR =F 20 @IGHGF |
circular sheet as large as possible ™% R 2] @99 R ss9 P
is cut off. What is the Tled Je3I9 o6 6 ST e
approximate area  of the SZ OoIF et [ 273 2
remaining sheet ? (A) 186cm?  (B) 93 cm?
(A) 186 cm?  (B) 93 cm? (C) 144cm? (D) 72 cm?
2 2
©) 144 em® (D) 72 em 15. <5l SR G379 7Y T 2%
15. A rectangular tank whose length 27 2.¢ R =T 5.¢ o | afm
and breadth are 2.5 mt and 1.5 GEPGre o Tl =1, (org
mt. If its capacity is 750 litre, | (RIS T fpatler 2
what is the height of the tank ? (A) 20 cm (B) 15cm
(A) 20 cm (B) 15cm (C) 80cm (D) 100 cm
(C) 80 cm (D) 100 cm L 16, vo @ G0l 1S yaes <
TS Tal IS
16. Two men start together to walk a FRET | GEET 2[@1— 8 eliGie
certain distance, one at 4 km/hr F TS T6e o BERGE
and another at 3 km/hr. The | @eE wREE | cferseE
former arrives half an hour before | PqETeld YNGR S6res
the later. Find the distance. 1T AT | & 2'e g fpiel 2
(A) 8km (B) 6km (A) 8km (B) 6km
(C) 7km (D) 9km (C) 7km (D) 9km
Q2 | 5] Series-B
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17.

18.

A horse and a cow were sold for
% 12,000 each. The horse was sold
at a loss of 20% and the cow at
a gain of 20%. The entire
transaction resulted in

(A) No loss or gain

(B) Loss of % 1,000

(C) Gain of X 1,000

(D) Gain of X 2,000

A bag contains coins amounting
to¥ 112 of X 1, 50 paise and 10
paise in the ratio of 3 : 8 : 10.
What is the number of 50 paise

17.

18.

13 ) G 1 7 B AT T 3
52000 TP JeTS [ 11 27 |
R R0 SR FAIFOTS SE
S 20 Mok FAee [E FI
29 | J01 €7TS FAMGI GG 419
3’ —

(A) TEIRRBICAT 12 TS <13 |

(B) S000 GBI ETFOM |

(C) S000 GHFS |

(D) 2000 GIF A |

9B (F97S Y Ul wifeet $ 5 T |

@ENBTS S 5Fl, ¢o 73R TF So
BRq YU TS Hifee] © @ b

coins in the bag ? S0, & T o 422 Tl @IS
(A) 198 (B) 112 femarrer =fzet 2
(C) 96 (D) 84 (A) 5% (B) 55%
(C) dY (D) »8

19. ¥ 675 was divided among | 19 yq¢ 59 9¢ T TI-TQIF TS
75 students. Each boy gets I 20 SN ©613 s efesid! 57413
and each girl gets ¥ 5. How 30 5T o elfosiR @A
many girls are there among the = ¢ TIT N o 2 wig-7aN
students 7 B s RFWaER @R i 2
(A) 45 (B) 55 (A) 8¢ B) e
(C) 50 (D) 37 (C) @o (D) o4

20. In a college the seats for Arts, | 50 e FreTE o] 3iferss e faresie
Commerce and Science are in the | AT ST ;R?UW P Ee
ratio of 5 : 7 : 8 respectively. | e o
There is a proposal to increase | S S @ 598 b, 9Bl I
these seats by 40%, 50%, and 75% | TP SPTE Y] 80 XSRH, ¢o
respectively, what will be the | WO, 1@ MO I F9 2 |
ratio after the increased seats ? QRS ST 1245 Jfen I e
(A) 2:3:4 In I PTG SegeATe
(B) 6:7:8 e 27 2
(C) 6:8:9 (A) 2:9:8 (B) b:9:Vb
(D) None of these (C) L:b:> (D) 9OIS T |

Series-B [ 6] Q2
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21. A boy was asked to write 25 x 92 | 21, @&« AT R @RI TS
but he wrote 2592. What is the 2 x 32 e P o se s «fesw!
?\:Vlgngrlcal difference between the Wﬂfww‘fﬁw oy
(A) 1 (B) 0 PR 2
©) 3 (D) 5 (A) 5 (B) @

(€) © (D) ¢

22. The square of a natural number | 27 Jreifds YR IfTFAF TRLIGE
subtracted from its cube comes to TeREeTq <[] Rl SR A 8b =
48. The number is . ﬁs N '
(A) 8 B) 6 (T A
(©) 5 (D) 4 (&) v (B)

€) ¢ (D) 8

23. The average age of A and B is 23. A S BT T ST 0o B
30 yrs and that of B and C is ) i - WQEEEW
26 yrs. The difference of the age | CIRL 2T | qre? cH
of A and C is — RPI A14 [F ?

(A) 2yrs (B) 4 yrs ggﬁ (A) 3=F (B) 8<%
(C) 6yrs (D) 8 yrs (C) v3I=J (D) v I=9

24. Average of 6 numbers is 8. One | 24. b Bl TR 9T b, O 9Ol TR
more number is added and the Q5 TS 9T T », i @lol
average became 9. What was the 41 AIH! 5 2
additional number ?

(A) 15 B) 16 (A) ¢ (B) Sv
(C) 7 (D) 9 (C) 1 (D) &

25. Manoj remembers that his elder 25. qAICE Yo CleTitsT @ O]
brother’s birthday is after fifteen | FRAF SN S i e
but before eighteen of February % Sb FFART IA9TS | AT
whereas his sister remember that O] SAI@FT T Sife ©ze
his elder brother’s birthday is FIHTFT TUW S& Sif€2] Free
after sixteen but before nineteenth 8 VS TR 9T | (0% &N
of February. On which date is 2'F S PREFT P
Manoj’s elder brother’s birthday ? S 2
(A) 16"Feb  (B) 17" Feb (A) 16" Feb  (B) 17" Feb
(C) 18" Feb (D) 19™ Feb (C) 18" Feb (D) 19" Feb

Q2 | 7] Series-B
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Q. 26-28 are based on the following
information :

Six plays A, B, C, D, Eand F are to
be staged on each day from Monday to
Saturday. The schedule of the plays
is to be in accordance with the
following :

(1) A must not be staged on Friday.

(1i1)) C must not be staged on the first
day of the schedule.

(ii1)) D  should be
Wednesday only but should not

staged on

be followed immediately by C.

(iv) There should be a gap of two days
between D and F.

(v) E should be
followed by A.

immediately

&
26. Which is correct sequence of ™%,

plays starting from Monday ?
(A) AEDBCF

(B) EADCBF

(C) EADFBC

(D) None of these

27. Play D was immediately preceded

2/ TR 26 F 28 031 oo IR fefee
90 (= -

A, B, C, D, E, F <103 =49 IS
CINRITT [ ¥R J%62 41 27 |
5 (BT N I+’ 7o
<7ifeeT AR —

() A 0PI W e
27|

(i) C CFAC SIferFIT @2 el I26T
IR |

(iii) D 5L IR I6Z T 27 5%
C 9634 emf 9 Fres
o 91 92T |

| (iv) D SI< F 75 219 emeq Jres

ol ey 219 |

(v) E <034 A oY YRS
PorRres e a1 2’9 |

. CIRRIRE *[1 evef 1 5T &
Oifefl T (I Wa 2] ?
(A) AEDBCF
(B) EADCBF
(C) EADFBC

(D) «ble 7727 |

27 D S5 (IT4e< 7539 7t emxfs

by - 91 Tafi

(A) A (B) B (A) A (B) B

© C (D) D | (C) C (D) D
Series-B |i| Q2
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28. Play F was scheduled on which | 28. F <54+ (@I e ey

day ? ?'37?
(A) Monday  (B) Saturday (A) GIFRE (B) @I
(C) Thursday (D) Tuesday (©) WW (D) e[

Q. 29-32 are based on the following | opy q2 29 g 9_1 32 (o woq IR

information : fefes 31 2R -
A + B means A is son of B.

15 s0 A+ B3 9g A T2(® BT 7T |
A — B means A is wife of B. A — B3I =5d A (2% BT “[9} |
A x B means A is brother of B. A x B394 A (32 BI I3 |

A + B means A is mother of B. A+~BI9L AREBITTF |

A =B means A is sister of B. A = B3 94 A 02(% BT o4 |

29. Whatdoes P xR +Q means ? 29 PxR+QIFLF?

(A) P is Brother of Q. Ef‘ (A) PR QI ©3 |
(B) P is Father of Q. (B) P (2@ Q7 TSI |
(C) Pis Uncle of Q. (C) P2 QI [ |
(D) P is Nephew of Q. (D) P2 QF ofes |
30. What does A =B + C mean ? 30. A=B+CIuLdf5?
(A) A is Aunt of C. (A) ATZRCI Y |
(B) A is Daughter of C. (B) A®ZCIGTF |
(C) A is Niece of C. (C) AT C B |
(D) A is Sister of C. (D) A 22 C 3 TNES |
31. What does J =K + L mean ? 31 J=K+L3Iug 5?2
(A) Jis Auntof L. L (A) JEELIE
(B) Iis Sister of L. . B) JEELIH |
(C) L is Niece of J. © LEm)TehE
(D) L is Daughter of J. (D) LT2®JIEET |

Q2 1 9| Series-B
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32. What does S + T — U means ? 32. S+T-UIHL 2
(A) U is Father of S. (A) UTZ® ST (TSI |
(B) Uis Son of S. (B) UWS?Z{WI
C) Uis Uncle of S.
© (C) UTRR ST YT |
(D) U is Brother of S.
(D) URZ ST 2 |

Q. (33 — 35) Each question is followed | & ¥R 33 F *[d¥ 35 (57 &TSIFCO! & IH!
by two statements numbered (I) and | ggg (1) S (II) F SPIe] T4 2T |
(IT). You have to decide whether the

e @il TERW (1 == 1)® ®

data provided in the statements

(I and/or II) are sufficient to answer | el ol (2R G @M Teds 9|
the question. Give answer as : AT = Bw® &7 ol | TeIE@N

(A) Ifthe data in statement (I) aloneis | GG&ECe a1 23

sufficient to answer  the

, (A) M (1) T T AFCER QR
question. &
B9 TS I 2B |

(B) AW (II) I TVJ AP @[T

(B) If the data in statement (II) alone

is sufficient to answer the

question. TG 03 AP |
(C) If the data in both the statements (©) 3 D) == (1) Al T8[9
() and (I) together are | TEY 9 MMOIERT W9 Tesq
t th tion. | >
necessary to answer the question A 2 |

(D) If the data in both the statements (D) e w T S o
together are not sufficient to
Tedq A &S 27 |

answer the question.

Series-B [10] Q2
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33.

34.

3s.

Are Jackfruit sweet ?
() All vegetables are sweet.

(IT) Jackfruit 1is a vegetable.

What is the colour of this bag ?

(I) The colour of this bag is
appealing .

(I) The colour of this bag is
same as that of other bag

which 1s black.

A student has to pass in both

Mathematics and Science to be

promoted. How many students

get promoted ?

(I) There were total 100
students in the class.

(IT) 30 students passed in Math

and 80 passed in Science.

GET IT ON
Google Play
33. ol ol =0 2

(1) A *F- AT ot |
(1) FoIeT G #{15feT |

34, @IGRB|TFZTI9

() @B IR Tf=op] |

(1) o) F &1 989 ({59 WE2 93

ol E| (F9TOI] 08! OTF |

35, o Q@2 8°F Al IR Sl
S Rem @bl ce SEid
2 A | I = @9 @ATa
KIEN

() =ABS P Soo T
R |

(1) 00 T BT TRFS F b0 &l
9 fegie el 27 |

Q2

| 11 | Series-B
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36. TRIPPLE 3 3% SQHOOKD

1S

written as SQHOOKD. How 3'Te 74 2 (o08 DISPOSE &
?OISSSSE can be written in that I TS B 2T 2
(A) ESOPCID (A) ESOPCID
(B) EJTPTF (B) EJTPTF
(C) DSOESPI (C) DSOESPI
(D) CHRONRD (D) CHRONRD

37. Pointing towards a lady, Rajan | 37. s (2&TORICA W@W
said, “She is the daughter of the W’ “of3 @i ﬂf@'ﬁ‘fmﬁ%ﬁ
oo et s ot | e 7 e o v
the lady to Rajan ? I 7 FRAIIR! T (P = 2
(A) Aunt (A) IR
(B) Daughter (B) SEF
(C) Sister i (C) SIS
(D) Sister-in-law [elr: (D) m

38. In a  code  language, | 38. EXPLANATION & I F'T
EXPLANATION is written as SRS EYQMAO AUIOO{%%’R{T
EYQMAOAUIOO. Using' the 2 (S8 G TS OBVIOUSLY
same code OBVIOUSLY willbe
written as F o127 2
(A) PCWIPVTMZ . (A) PCWIPVTMZ
(B) OCWIOUTMZ (B) OCWIOUTMZ
(C) OCWIOVIMZ | (©) OCWIOVTMZ
(D) OCWIOVTMZ (D) OCWIOVTMZ

Series-B |£| Q2
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39. Select the odd one. 39. SRl REIR Sleret 2
(A) Copper  (B) Tin (A) IR (B) fomt
(C) Brass (D) Zinc (C) Pree (D) &=
40. Select the pair in which the words | 40. ©19 fof ©It et 461 @IRICH! <D
are differently related. Tfereqt 2
(A) Hard : Soft (A) B : TFINE
(B) Long : High (B) B - @
(C) Sweet : Sour () 57 - <l
(D) Pointed : Blunt (D) Tole! : TS5l
41. Select the odd pair of words. 41. wIfet @RICH oS e
(A) Volume : Litre (A) Sferey : 5]
(B) Time : Second (B) T : =%
(C) Length : Metre (C) @9 : o[
(D) Pressure : Barometer (D) Bi* :@ R
E5E
[
42. The 100" term of the series | 42. o, &, q, S, TS S00 (o
3,5,7,9,...will be DGR S HOEER:
(A) 201 (B) 203 (A) 205 (B) R0
(C) 199 (D) 205 (C) S5 (D) 20¢
43. Find out the missing term in the | 43. o9 HREO® @ @RI ARG
followSSERG | i Shreal W-144 ; 2 ; S-100;
W-144; 7 5 S§-100; Q-81; |
0-64 Q-81; O-64
(A) V-121 (B) V-128 - (A vzl (B) V-128
(C) U-122 (D) U-121 (C) U-122 (D) U-121
44. Select the word which is least like 44. © 7 OLP P
the other words in the group. 70 X! B! R 1 Tfereq) ?
(A) Geometry (A) wifHfs
(B) Algebra (B) etedl
(C) Trigonometry (©) farretig
(D) Mathematics (D) s
Q2 | 13] Series-B


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

Q. 45 & 46 : On the basis of the
relationship between first two words,
you are required to decipher the
relationship of the third word with the
options given.

45. Medicine : Sickness :: Book: ?
(A) Ignorance
(B) Knowledge
(C) Author
(D) Teacher

46. Calendar : Dates :: Dictionary : ?
(A) Words (B) Book
(C) Vocabulary (D) Sentences

47. Parliament is related to Great
Britain in the same way as
Congress is related to

(A) Japan (B) India
(C) USA (D) Nepal

48. Which of the following is the
same as Wrestling, Karate,
Boxing ?

(A) Swimming
(B) Polo
(C) Pole Vault
(D) Judo

49. Telephone is related to Voice as
‘Letter’ is related to

(A) Envelope

(B) Post office
(C) Cover Product
(D) Writing

2% 45 (1T 46 : 2% TlEY T & IO
WY TAGE] T B QORI *AGE
TG S WwE A9 [RPe! i
Sfered ?

45. 894 @il :: fFotor: 2

(A) e
(B) el
(C) T&4F
(D) MFres
46. TFEGR : SIfY ;ST ; 2
(A) *=1 (B) foor
(C) SEFEE (D) I=H
47, RIS T T @ e
T 2 (S PRI TF 2]

(A) & (B) ©R®
(C) 3T«s 9 (D) IolleT

"8, ©9 (TG S, FRIG, A
(XET] GTCS A1) IR 2
(A) ATSF
(B) e
(C) "&b
(D) I
49. TERTCEE IM FAR OIS 77915 27
(SCB “THGR’T O T9F 2’
(A) GCET (HI)
(B) TFIS
(C) TONF &
(D) T
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Q. (50-54) : Fillup with correct word.
The
but (50) do not have proper information,
they may (51) that private medical

care is extremely expensive. It is not

regulations are fairly simple

unusual to discover that they do not
have (52) money with them to (53) the
total cost and (54) such circumstances
an already difficult situation becomes

even more complicated.

214 (50-54) : el 5i2® W e fordll :

The
but (50) do not have proper information,
they may (51) that private medical

care 1is extremely expensive. It is not

regulations are fairly simple

unusual to discover that they do not
have (52) money with them to (53) the
total cost and (54) such circumstances
an already difficult situation becomes

even more complicated.

50. (A) whether (B) because 50. (A) whether (B) because

(C) people (D) as (C) people (D) as
i

51. (A) look (B) find 51. (A) look (B) find
(C) know (D) want (C) know (D) want

52. (A) enough  (B) little 52. (A) enough  (B) little
(C) full (D) few (C) full (D) few

53. (A) give (B) have 53. (A) give (B) have
(C) cover (D) spend 1 (C) cover (D) spend

54. (A) in (B) at 54. (A) in (B) at
(C) up (D) on | (C) up (D) on

Q2 L15]
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2R (55-56) : WT XS A 512 77 T

55. Measles infectious. 55. Measles infectious.
(A) 1is (B) are (A) is (B) are
(C) were (D) are been (C) were (D) are been

56. Neil Armstrong
first man to walk on
Moon.

(A) a,the
(C) the, the

(B) the, upon
(D) the,a

Q. (57-59) : In the following sentences
find out the segment in which there is

was 56.

Neil Armstrong was
first man to walk on
Moon.

(A) a,the
(C) the, the

(B) the, upon
(D) the,a

| o (57-59) : T AT I T

: S5 i Sere |
an error :
‘o dispari The E ic disparit
57 The Econo(mAl)c disparity 57, c COHO(mAl)C 1Sparity
has grown has grown
ELSE (B)
(B) ot
rapid in the era of globalization rapid in the era of globalization
(C) (D) ©) (D)
58 He told me that he want 58 He told me that he want
) (A) (B) P (A) (B)
to have a talk with me to have a talk with me
(©) (D) (©) (D)
. Can you repair my
Can you repair my : 59,
59. A B
s W e
digital camera until Wednesday digital camera until Wednesday
(©) (D) | © )
Series-B [16] Q2
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60.

61.

62.

63.

64.

6S.

Which of the following is not a
font style ?
(A) Italics
(C) Regular

(B) Superscript
(D) Bold

In MS Word, the mailing list is
known as

(A) Data Sheet

(B) Sheet

(C) Data Source

(D) Source

One Megabyte
(approximately)

(A) 1000 bits

(B) 1000 bytes

(C) 10 Lakh bytes
(D) 10 Lakh bits

equals

When you are working on a %63-

document on PC, where is the
document temporarily stored ?
(A) ROM

(B) RAM

(C) CPU

(D) Flash Memory

How are data organized in a
spread sheet ?

(A) Lines and Spaces

(B) Layers and Planes

(C) Rows and Columns

(D) Height and Widths

Portrait and Landscape are
(A) Page Orientation

(B) Page Layout

(C) Paper Size

(D) All these

60.

61.

62.

64.

65.

S IO T BIBH T ?

(A) BIETFE  (B) TIREY
(C) @SR (D) IT

G G5 TE© (W2fo1: o183 Sl AR —
(A) Wl o6

(B) fo5

(C) w4

(D) 1@

G (FSTRI5T AN (&) 2
(A) 1000 bits

(B) 1000 bytes

(C) 10 Lakh bytes

(D) 10 Lakh bits

S el aPATIE Cle @4
(document) I FW I (Sl
SEES@  documentBl  F©
IO 2 ?

(A) ROM

(B) RAM

(C) CPU

(D) Flash Memory

Spread sheet® (FF O 7R4I[0©
27?

(A) Lines and Spaces

(B) Layers and Planes

(C) Rows and Columns
(D) Height and Widths

o == =iy 27e
(A) (IS SR
(B) T (STSIICH

(C) ToIIF Bizw

(D) @[T AR =

Q2
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66. Who has won individual Gold | 66. f&oTe i@ fe™ome @ =<
Medal in Olympic Games ? AP S IS 2
(A) Gagan Narang (A) 95 AT=Ral
(B) Abhinav Bindra (B) wifeerq fagt
(C) Sushil Kumar ©) @WW

D) Raj dhan Rath
(D) Rajyavardhan Rathore D) 4 2@

67. Which player has been awarded | 67. (F[E ?RQ@ @@jﬂ 01, @IefHR
with Arjun Award, Dronacharya 35!, G SR TG IFE AR
Award, Rajiv Gandhi Khel Ratna S @i 91 T2l 2
and Padmashri ? A Rt '

(A) Abhinay Bindra (A) e

(B) Sachin Tendulkar (B) CBQ l
(C) Pullela Gopichand (C) Tt GNATT
(D) Saurav Ganguli (D) TTS aMRegfer

68. Former football player and | 68. e FoIe (O IF T
present  Chief Minister of THO‘TW E?U?@[ J @ EFe Piee
Manipur Sri N. Biren Singh has @R TIFEE IV AEBE Gl
served in which Central Govt. SGITE

(')
Organization ? SHPBTR ?
(B) BSF o (B) BSF
(C) Assam Rifles (C) SPT SCF=TD>
(D) CISF (D) CISF

69. Hima Das is nicknamed as 69. ZI TP T
(A) Sprint Queen (A) %W
(B) Dhing Express (B) f: @srem
(C) Track Queen (C) GT P2
(D) Toofan Mail (D) ORI (N3e

70. India started participating in 70. IR BT ©IRUS e oRES
Olympic Games in the year TRH I e Bl 2
(A) 1900 (B) 1904 (A) $500 (B) $508
(C) 1912 (D) 1952 (C) 5533 (D) $5@R

Series-B 18] Q2
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71. East India Company annexed | 71. 32 3f&3 @=aiE 3= ey FIfG
Kachari Kingdom because of [GIPGEQSRE
(A) Alliance with other kings (A) SN I GO (S5
(B) Mis-management (B) SRIE#

(C) Conspiracy against East (C) 38 3fum R e
India Company g
(D) Doctrine of Lapse (D) Doctrine of lapse

72. Which Temple was built during 72. xﬁW W ANTS @m
Salastambha Dynasty ? 5 2l 2
(A) Bhubneshwari feie <1 '

(B) Kamakhya (A) g9 B (B) PGl
(C) Mahamaya (C) =R (D) W2
(D) Mahabhairab

73. What is called as “Peace Garden | 73. “Teq-~14a ¥IifQ Ty JfeT e

of North East” ?

5 eI (I =Y ?
(A) Mizoram =
(B) Meghalaya o (A) fceEE (B) GHER
(C) Sikkim = (0) fofew (D) @
(D) Tripura

74. In which year the first Saraighat | 74. BAIRIG 22 *FZI weTRL psley
Bridge in Guwabhati was oo fesfiel 541 (2feet 2
constructed ? (A) SdeR (B) S>vo
(A) 1952 (B) 1960 C) S50 D) S30¢
(C) 1962 (D) 1965 Gy -Gy | &

75. In cricket world cup tournaments | 75. 5t {&6 E@TTCTI% SIB[6Y
how many times India has | A N 2Fai3Re 2
defeated Pakistan ?

(A) 5 (B) 7 (A) « B) 4
C) 8 (D) 2 © ¥ D) R

76. Whose daughter was  Amrita 76. SOl &Sl @[ Grel wifee
Prabha who got married to | IR TP T2 10 <l
Kashmiri Prince Meghavahana ? | 03T ?

(A) Bhuti Varman (A) @%W
(B) Kalyan Varman (B) FeTiel Fae
(C) Bhaskar Varman (C) ©FI
(D) Bala Varman (D) I
Q2 [ 19] Series-B
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77. Where will you find “Golden | 77. “Glel I T © (T T 2
Langur”? (A) I (B) emsyiet
(A) Pabitora  (B) Laokhowa C) SR D) siifaifnfse
(C) Chakrashila (D) Panidihing © ®) "
78. The shape of coins during Ahom | 78. Y A&y e @i wiFho
Kingdom was oifRE —
(A) Circular  (B) Rectangular (A) ISR (B) SISIFR
(C) Square (D) Octagonal (C) 3™ (D) w
79. Assam sends MPs to Rajya 79. JSPTOMS ST AW HEJ 2
e we oo
©) 14 D) 7 (C) 8 (D) 1
80. “Ek Saran Naam Dharma” was | 80. (% RN o e w2
established by Srimanta | *RFICE “ Q3 #1795 oD
Sankardev during which King’s Fafer 2
time ?
A) foeTar
(A) Chilarai (*)
(B) “I<eli<e
(B) Naranarayan o
(C) Bhaskar Varman (€) ©f
(D) Vishwa Singha Ef‘ (D) fery ez
81. Shivadol was constructed by i 8I. qUAST (IO e fevsfier
which Queen ? PlRe 2
(A) Phuleswari (A) W@
(B) Ambika Kouwari (B) %<l 341
(C) Mula Gabaru (C) Yenares
(D) Kuranga Nayani (D) T T
82. Who was known as 82 WW{%W @[T 2
Mabharajdhiraja ?
(A) Bhaskar Varman (A) S
(B) Samudra Varman (B) @ T+
(C) Pushya Varman (©) ?ﬁ}?ﬁﬁ
(D) None of these (D) TT TS 7=
Series-B [20] Q2
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83. “Sishu” is the literary work of 83. ‘ﬁ“\“?”ﬂ%ﬁ‘ﬁ@—
(A) Vikram Seth A) & o
(B) Jawaharlal Nehru (B) SRIEAN (12
(C) Rabindranath Tagore (C) IR 6 o
(D) Arundhati Roy (D) W@%@
84. The Autobiography “Living | 84. “Living History” S SISI&IR9
History” has been authored by GHF LS -
(A) Margaret Thatcher (A) STMEEb @BR
(B) Benazir Bhutto (B) TaI&q LG
(C) Monica Lewinsky (C) ol fereafay
(D) Hillary Clinton (D) i fZeim
85. Indian Economy is . 85. SRSty LA 2’
(A) Capitalist (B) Socialistic (A) W (B) re<iAt
(C) Mixed (D) Federal g.%g (C) fire (D) TFOIEE
86. The National Stock Exchange is | 86. ‘National ~ Stock  Exchange’
located at SES -
(A) Gurugram (B) Mumbai (A) =N (B) =2
(C) Kolkata (D) Chennai (C) Teel (D) AR
87. Which was the first Assamese | 87. SPIIHI SRF & SCADAI (PIT4 2
language Magazine ? (A) foa fost
(A) Chitra Chinta (B) Il
(B) Roopkar. (C) SFE
(C) Orunodoi
(D) Jonaki . (D) e
88. Who said “Man is a political 88. W2 JEAfT MM “gfer I
animal” ? ” 7
(A) Socrates (B) Plato (A) DFR (B) T2H!
(C) Dante (D) Aristotle | (C) OB (D) @S5
Q2 | 21] Series-B
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89. Lord Buddha’s original name was | 89. @I« I&J &AF© «Iy BIES|
(A) Dushyant (B) Siddharth (A) T8 (B) Praid
(C) Samara (D) Siddhant (C) R (D) Pra®
90. (S);I_J.I‘Vy is caused by deficiency 20. \Sgcurvy: i GT'CBT Q;?f R
(A) Vitamin-A (B) Vitamin-B (A) TSDI-A  (B) TSDINA-B
(C) Vitamin-C (D) Vitamin-D (€) febifsm-C (D) febifim-D
ol M ¢ e O ; 91. To&R @Rl Q@RSE  HEE
. ost of the Oxygen transporte
by the blood is e 2
(A) Dissolved in plasma (A) TS TGS =
(B) Dissolved in water (B) *Ir® Bao® =
(C) Bound to Haemoglobin (C) B aRe e =7
(D) I(l):Si;:n aform as solute in (D) wIRfR = o eremere
P ffers 23 |
92. Isotopes are atoms of the same | 92, Isotopes (B (T Tvmiaq 5lfy®
element that have different W‘lﬁl@ﬁ e ffem
(A) Number of Neutrons (A) TG 12l
(B) Number of Electrons (B) 2CeTRG RAS
(C) Number of Protons (C) &5 3Rl
(D) Atomic number (D) el 120
ORi0)
93. Genes are described best by =R 93, Gleq TPE 901 (2R —
(A) Long, Single chains of (A) Wge, <o @f e afbes
amino acids X4 |
(B) {;I(l)llilf(,) agé);lble chains of (B) T, et @i e 2 |
(C) Long, Single chains of (©) ol , o 7 forefa «fbes
Nucleic acids R |
(D) Long, Double chains of | (D) Aet, qoie el «fbes
Nucleic acids R |
94, “Ring of Fire” means 94. “Ring o.fFire”ﬁ\T{?f
(A) Circum-Pacific belt (A) (Circum- Pacific belt) BISFIN
(B) Mid-Continental belt ¢ E@ @ | &5
(C) Indian Ocean belt (B) 3 PHR[C 61’%?[] @%
(D) Atlantic Ocean belt (C) SITOR AR ' |
(D) GG TP @0 |
Series-B [22] Q2
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95. International Date line refers to
(A) 0° Longitude
(B) 90° E Longitude
(C) Equator
(D) 180° Longitude

9s.

e o Oifd @R 7
(A) 0° Longitude

(B) 90°E Longitude

(C) Equator

(D) 180° Longitude

96. The Planet nearest to Sun is 96. < HGILF OIS AP ARG
(A) Earth (B) Mars (A) =it (B) Wl
(C) Mercury (D) Venus ©) 3 (D) W&
97. Which Planet emits green light ? 97. THG &2F Y[ CTOGRI (2]
(A) Jupiter (B) Uranus [CRISERD:
(C) Venus (D) Neptune (A) I2=fs  (B) AR
©) uT (D) TR
98. (gerf;;orial Water ’;mezns. | 98. “Territorial Water  SIGT
¢ water found 1mn a
Country in form of rivers 'EI%E (A) 94T CTeftet 74, % e =rar
and lakes etc. i Colr =il |
(B) The water whigh is supplied (B) I (7l ST93a1Z 1“1 |
to other Countries
(C) Water of sea located close (©) 91 [ FEA AR
to the coast of a Country Sffell |
(D) Water .secured from other (D) = O~ eRES o |
Countries
99. Dilwara Temples are in 99. TRl M SEIES
(A) Indore (B) Mt. Abu | (A) 2w (B) WIS Y
(C) Somnath (D) Dwarka (C) AN (D) "RF
100. Vice-President of India is the 100. ST T g1 A1 =7 —
head of —
A) el
(A) Lok Sabha (A)
(B) Rajya Sabha (B) 1o
(C) Vidhan Sabha (C) faurpTel
(D) Parliament (D) ™
Q2 | 23] Series-B
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